Do not use a calculator on this quiz.

Math 141 Spring 2004 NAME: A NsWErS
Quiz #5

sections 4.1-4.3 (5. l) 15 Seat:

For the mental math and estimation use the methods listed. Show your work to illustrate each
method. (Do not use regular “paper & pencil” algorithms.)

1. Do this subtraction mentally u31n§¢gual additions method 942 + ‘2 =_ 11
Show your thoughts to illustrate this method. ~ "~ -85 +5 = 9060
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2. Estimate 7815 + 1739 using thf:se two front-end methods:
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4. Multiply, in base §, using the lattice method. (May use the standard method to check your work.)
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ée,[k" £7~5. Without doing any division, answer the following question:

6 ‘ Does 31257437 What is the divisibility test for three?
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